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Model Test One
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Part | Listening Comprehension

Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversa-
tion s a question will be asked about what was said. The conversation and the ques-
tion will be spoken only once. A fter each question there will be a pause. During the
pause, you must read the four choices marked A), B), C) and D), and decide

which is the best answer. Then mark the corvesponding letter on the Answer Sheet

with a single line through the center.

Example: You will hear;

You will read:
A) At the office. B) In the waiting room.

C) At the airport, D) In a restaurant,

(20 minutes)

From the conversation we know that the two were talking about some work they had
to finish in the evening. Thisis most likely to have taken place at the of fice. There-
fore, A) “At the office” is the best answer. You should choose [A] on the Answer

Sheet and mark it with a single line through the centre.

Sample Answer [-A-] [B] [C] [D]

. A) She agrees to go out with the man.

B) She doesn't agree to go out with the man.

C) She refuses the man in a delicate way.

D) She seems more interested in films than the man,
A) She will be ill and stay at home,

B) She will come fate for work.

C) She will see her son off at the airport.

D) She will meet her son at the airport.

. A) Hostess and guest. B) Waitress and customer.

C) Wife and husband. D) Shop assistant and customer.
A) 50 cents. B) 25 cents.

C) 15 cents. D) 30 cents.

A) He doesn’t have enough money.

B) He really doesn’t want to buy a car,

C) He plans to buy a car in a little while.

D) he will have enough money for a-car soon.
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6. A) It's interesting. B) It's turned out to be easy.

C) It’s hard to judge. D) It’s quite difficult.
7. A) A cook. B) A waiter.

C) A serviceman, D) A salesman.
8. A) To work for a small company. B) To be independent.

C) To graduate. D) To start a large company.
9. A) In a hotel. B) At the dinner table.

C) In the street, D) At the man’s house.

10. A) The woman insists on going out.
B) The woman doesn’t like watching TV,
C) The man promised her a gift on her birthday.

D) The man is too tired to go out.

Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you
will hear some questions. Both the passage and the questions will be spoken only
once. A fter you hear one question, you must choose the best answer from the four
choices marked A), B), C) and D), and decide which one is the best answer. Then

mark your answer on the Answer Sheet with a single line through the center.

Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) The liberation movement of British women.
B) Rapid economic development in Britain,
C©) Changing attitudes to family life.
D) Reasons for changes in family life.
12. A) Because millions of men died in the war.
B) Because women had proved their worth.
C> Because women were more skillful than men.
D) Because factories preferred to employ women.
13. A) The concept of “the family” as a social unit.
B) The attitude to birth control.
C) The attitude to religion.
D) The ideas of authority and tradition.

Passage Two
Question 14 to 16 are based on the passage you have just heard.
14. A) Twenty-five million. B) Sixty thousand,

C) Seven million. D) Four hundred million.

15. A) A kitchen. . B) A Store. -
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C) An engine. D) A theater.
16. A) It has 2 engines. B) It has 4 engines,

C) It has 6 engines. D) It has 8 engines.

Passage Three
Question 17 to 20 are based on the passage you have just heard.

17. A) Since the 1950’s. B) Since the 1960’s.
C) Since the 1970’s. D) Since the 1980’s.

18. A) Forty percent. B) Fourteen percent,
C) Fifteen percent. D) Nine percent,

19. A) Drivers and passengers in small towns.
B) Those who do not smoke while driving.
C) Those who were once injured in a car accident.
D) Those who know the danger of driving,

20. A) They have advertisements based on accidents.
B) They print car accidents in newspapers.
C) They print car accidents in magazines. )
D) They have a law requiring the use of safety belts.

Part  Reading Comprehension 7 (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or
unfinished statements. Foreach of them there are four choices marked A), B), C)
and D). You should decide on the best choice and mark the corresponding letter on

the Answer Sheet with a single line through the center.

Passage One
Question 21 to 25 are based on the Sollowing passage.

Today, more and more people are using credit cards instead of money to buy the things they
need, Almost anyone who has a steady income and a continuous work record can apply for a credit
card.

If you have a credit card, you can buy a car, eat a dinner, take a trip, and even get a haircut
by charging the cost to your account. In this way you can pay for purchases a month or two later,
without any extra charge. Or you may choose to spread out your payments over several months
and pay only part of the total amount each month. If you do this, the credit card company or the
bank who sponsors (&) the credit card will add a small charge to your total bill. This is very
convenient for the customer. With the credit card in your wallet or purse, you don’t have to carry
much cash, This saves you trips to the bank to cash checks or withdraw cash. Also if you carry
credit cards instead of a lot of cash, you don’t have to be concerned about losing your money
through carelessness or theft, The card user only has to worry about paying the final bill, This of

course can be a problem if you charge more than you can pay for,
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Credit cards are big business. Americans spend $ 16 billion a year on cards and there are
already 590 million of them in circulation. Many banks sponsor their own credit card companies
and issue cards free to their customers. Qther credit card companies charge their members annual
dues ($# ). The stores that accept credit card must pay a small fee to the credit card company —
a percentage of the purchase price of the merchandise or service, In turn, the credit card company
promptly pays the store for the merchandise or service. Credit card companies make a profit from
the fees they charge the store and zlso from the fees collected from customers who pay for their
charges in monthly installments. However, credit card companies sometimes have problems col-
lecting overdue payments from unreliable customers. Also the use of stolen, lost, or counterfeit
credit cards by criminals has become a big headache for the credit card company that is responsible
for the goods and services illegally charged to its customers’ account.

21. The main purpose of this passage is

A) to promote the sale of credit cards

B) to persuade you not to buy credit cards

C) to explain credit card company

D) to give you some instructions on how to use the credit card
22. Why are more and more people using credit cards?

A) Because they are becoming richer and richer.

B) Because everyone can apply for the credit card.

C) Because it is cheap to buy goods by using a credit card.

D) Because it is convenient for them to buy goods.

23

According to the author, which of the following statements is NOT true?
A) With a credit card you can pay for purchases two months later.
B) With a credit card you can charge the cost to your account,
C) With a credit card you don’t have to be worried about a thief.
D) With a credit card you don’t have to worry about your final bill.
24. In this passage, “Credit cards are big business” means that

A) credit cards banks earn a lot of money

B) credit cards are sold at a high price

C) every customer has bought a credit card

D) customers must pay a lot of money to the credit card companies
25. The credit card companies have difficulties in .
A) charging goods and services to their customers’ account
B) gathering overdue payments
C) finding the owners of lost credit cards
D) selling their cards

Passage Two
Questions 26 to 30 are based on the Sfollowing passage.

Demands for stronger protection for wildlife in Britain sometimes hide the fact that similar
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needs are felt in the rest of Europe. Studies by the Council of Europe, of which 21 countries are
members, have shown that 45 per cent of reptile species and 24 per cent of butterflies are in
danger of dying out. .

European concern for wildlife was outlined by Dr. Peter Baum, an expert in the environment
and natural resources division of the council, when he spoke at a conference arranged by the
administrators of a British national park. The park is one of the few areas in Europe to hold the
council’s diploma for nature reserves of the highest quality, and Dr. Baum had come to present it
to the park once again. He was afraid that public opinion was turning against national parks, and
that those set up in the 1960s and 1970s could not be set up today. But Dr, Baum clearly remained
a strong supporter of the view that natural environments. needed to be allowed to survive in peace
in their own right,

“No area could be expected to survive both as a true nature reserve and as a tourist attrac-
tion”, he went on. The shortsighted view that reserves had to serve immediate human demands
for outdoor recreation should be replaced by full acceptance of their importance as places to
preserve nature for the future.

“We forget that they are the guarantee of life systems, on which any built-in area ultimately
depends,” Dr. Baum went on. “We could manage without most industrial products, but we could
not manage without nature, However, our natural environment areas, which are the original parts
of our countryside, have shrunk to become mere islands in a spoiled and highly polluted land
mass. ”

26. Recent studies by the Council of Europe have indicated that

A) wildlife needs more protection only in Britain

B) all species of wildlife in Europe are in danger of dying out

C) there are fewer species of reptiles and butterflies in Europe than elsewhere

D) many species of reptiles and butterflies in Europe need protecting
27. Why did Dr. Baum come to a British national park?

A) Because he needed to present it with a council’s diploma.

B) Because he was concerned about its management.

C) Because it was the only national park of its kind in Europe.

D) Because it was the only park which had ever received a diploma from the Council.

28. The last sentence in the second paragraph implies that .

A) people should make every effort to create more environment areas

B) people wauld go on protecting national parks

C) certain areas of countryside should be left intact

D) people would defend the right to develop the areas around national parks
29. In Dr. Baum's opinion, the view that a nature reserve should serve as a tourist attraction is

A) idealistic B) Revolutionary
C) shortsighted - D) Traditional

30. Which of the following statements can be inferred from the last paragraph?
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A) We have developed industry at the expenses of countryside.
B) We have forgotten what our original countryside looked.

C) People living on islands should protect natural resources for their survival.

D) We should destroy all the built-in areas.

Passage Three
Questions 31 to 35 are based on the following passage.

Plants, like animals, are subject to diseases of various kinds. It has been estimated that some
30,000 different diseases attack our economic plants; forty are known to attack corn, and about as
many attack wheat. The results of unchecked plant disease are all too obvious in countries which
have marginal food supplies. The problem will soon be more widespread as the population of the
world increases at its frightening rate. Even in countries, which are now amply fed by their
agricultural products, there could soon be critical food shortages, It is easy to imagine the
consequences of some disastrous attack on one of the major crops; the resulting famines could kill
millions of people, and the resulting hardship on other millions could cause political upheavals dis-

'

astrous to the order of the world.

Some plants have relative immunity to a great many diseases, while others have a
susceptibility to them. The tolerance of a particular plant changes as the growing conditions
change. A blight may be but a local infection easily controlled; on the other hand it can attack par-
ticular plants in a whole region or nation. An example is the blight which killed virtually every
chestnut tree in North America. Another is the famous potato blight in Ireland in the last century.
As a result of that, it was estimated that one million people died of starvation and related ajl-
ments, .
Plant pathologists have made remarkable strides in identifying the pathogens of the various
diseases. Bacteria may invade a plant through an infestation of insect parasites carrying the patho-
gen, A plant can also be inoculated by man. Other diseases might be caused by fungus which at-
tacks the plant in the form of a mold or smut or rust, Frequently such a primary infection will
weaken the plant so that a secondary infection may result from its lack of tolerance. The symp-
toms shown may cause an error in diagnosis, so that treatment may be directed toward bacteria
which could be the result of a susceptibility caused by a primary virus infection.
31. How many diseases are known to attack wheat?

A) Around 30,000, B) Around 140.

C) Around 29,960, D) Around 40.
32, According to this passage, which of the following. would a plant disease result in if left

unchecked?

A) A world war. B) Border conflicts.

C) Rations of grain and meat. D) Social upheavals.
33. What is the main idea of the second paragraph?

A) Some plants have relative immunity to a great many diseases, while others have a suscep-

tibility to them, .
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B) The tolerance of a particular changes as the growing conditions change.
C) A blight killed virtually every chestnut tree in North America,
D) A blight may be a national infection.
34, According to the passage. some plant diseases can be prevented by .
A) Kkilling parasites
B) inoculation
C) killing insects
D) improving growing conditions
35. Which of the following statements is not true?
A) Some plant diseases may be caused by bacteria.
B) Some plant diseases may be caused by pathogens.
C) Some plant diseases may be caused by fungus.
D) Symptoms are always helpful in identifying diseases.

Passage Four
Questions 36 to 40 are based on the following passage.

The chances are that you made up your mind about smoking a long time ago — and decided
it’s not for you.

The chances are equally good that you know a lot of smokers — there are, after all about 60
million of them, work with them, play with them, and get along with them very well,

And finally it's a pretty safe bet that you’re open-minded and interested in all the various
issues about smokers and nonsmokers — or you wouldn’t be reading this,

And those three things make you incredibly important today.

Because they mean that yours is the voice — not the smoker’s and not the anti-smoker’s —
that will determine how much of society’s efforts should go into building walls that separate us and
how much into the search for solutions that bring us together,

For cne tragic result of the emphasis on building walls is the diversion of millions of dollars
form scientific research on the causes and cures of diseases which, when all is said and done, still
strike the nonsmoker as well as the smoker. One prominent health organization, to cite but a
single instance, now spends 28 cents of every publicly-contributed dollar on “education” (much of
it in anti-smoking propaganda) and only 2 cents on research,

There will always be some who want to build walls, who want to separate people from
people, and up to a point, even these may serve society. The anti-smoking wall-builders have, to
give them their due, helped to make us all more keenly aware of choice.

But our guess, and certainly our hope, is that you are among the far greater number who
know that walls are only temporary at best, and that over the long run, we can serve society’s in-
terests better by working together in mutual accommodation,

Whatever virtue walls may have, they can never move our society toward fundamental solu-
tions. People who work together on common problems, common solutions, can.

36. What does the word “wall” used in the passage mean?
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37.

38.

39.

A) Anti-smoking propaganda.

B) Diseases striking nonsmokers as well as smokers.

C) Rules and regulations that prohibit smoking.

D) Separation of smokers from nonsmokers.

In paragraph 4, “you” refers to

A) smokers

B) non-smokers

C) anti-smokers

D) smokers who have quitted smoking

It is evident that the author is not in favor of

A) building a wall between smokers and nonsmokers

B) doing scientific research at the expense of one’s health
C) bringing smokers and nonsmokers together

D) providing accommodation for smokers

As is suggested, the common solution to the common problem is
A) to separate people from people

B) to work together in mutual accommodation

C) to make us more keenly aware of choice

D) to serve society’s interest better

40. According to the passage, the writer looks upon the anti-smoking wall-builders’ action
A) optimistically B) pessimistically
C) unconcernedly D) skeptically
Part J Vocabulary and Structure (20 minutes)

Directions: There are thirt ¥ incomplete sentences in this part. For each sentence there are four

41.

42.

43.

44.

choices marked A), B), C) and D). Choose the ONE answer that best completes the
sentence. Then mark the corvesponding letter on the Answer Sheet with a single line
.through the center,
The pressure causes modern people to be energetic, but it also puts them under a
constant emotional strain.
A) to compete B) competing C) to be competed D) having competed
The naughty boy has cried wolf time and again, Hardly believes him when he says
he really is in trouble,
A) nobody B) somebody C) some one D) anybody
A primary school teacher cannot take it for granted that his pupils always do their homework

A) as follows B) as required C) as goes D) as is well known
Urban congestion would not greatly be relieved unless the charged on public trans-
ports were more reasonable,

A) prices B) tickets ‘ C) fares D) fees



